

()

[6] , -

, -

, -

, -

, -

1. $a + b \geq 1, \quad a^4 + b^4 \geq \frac{1}{8}. \quad !$

$a + b \geq 1 \quad (a + b)^2 \geq 1, \quad \dots \quad a^2 + 2ab + b^2 \geq 1. \quad -$

$(a - b)^2 \geq 0 \quad a^2 - 2ab + b^2 \geq 0. \quad -$

$a^2 + 2ab + b^2 + a^2 - 2ab + b^2 \geq 1,$

$\dots \quad 2a^2 + 2b^2 \geq 1, \quad a^2 + b^2 \geq \frac{1}{2}.$

$a^4 + 2a^2b^2 + b^4 \geq \frac{1}{4} \quad a^4 - 2a^2b^2 + b^4 \geq 0,$

$2a^4 + 2b^4 \geq \frac{1}{4},$

2. a, b, c

$a^2 + 5b^2 + 8c^2 + 4 \geq 4ab + 4bc + 8c.$

$a^2 + 5b^2 + 8c^2 + 4 - 4ab - 4bc - 8c \geq 0,$

$a^2 - 4ab + 4b^2 + b^2 - 4bc + 4c^2 + 4c^2 - 8c + 4 \geq 0,$

$(a - 2b)^2 + (b - 2c)^2 + (2c - 2)^2 \geq 0.$

$$c = 1, b = 2, a = 4.$$

3. a, b, c, d $a + d = b + c$. -

$$(a - b)(c - d) + (a - c)(b - d) + (d - a)(b - c) \geq 0.$$

$$2ac + 2bd - 2ad - 2bc \geq 0,$$

$$-d(a - b) + c(a - b) \geq 0,$$

$$(a - b)(c - d) \geq 0.$$

$$a - b = c - d,$$

$$(a - b)^2 \geq 0,$$

$$a = b,$$

$$c = d.$$

4. a, b, c

$$\frac{a^2}{(a+b)(a+c)} + \frac{b^2}{(b+c)(b+a)} + \frac{c^2}{(c+a)(c+b)} \geq \frac{3}{4}.$$

$$4a^2(b+c) + 4b^2(c+a) + 4c^2(a+b) \geq 3(a+b)(b+c)(c+a),$$

$$a^2b + a^2c + b^2a + b^2c + c^2a + c^2b \geq 6abc,$$

$$a(b^2 - 2bc + c^2) + b(a^2 - 2ac + c^2) + c(a^2 - 2ab + b^2) \geq 0,$$

$$a(b-c)^2 + b(c-a)^2 + c(a-b)^2 \geq 0.$$

$$a = b = c.$$

5. a, b, c

$$a^2(b+c) + b^2(c+a) + c^2(a+b) \leq 2(a^3 + b^3 + c^3).$$

$$\begin{aligned}
 a^2(b+c) + b^2(c+a) + c^2(a+b) &\leq 2(a^3 + b^3 + c^3), \\
 2a^3 + 2b^3 + 2c^3 - a^2b - a^2c - b^2a - b^2c - c^2a - c^2b &\geq 0, \\
 a^2(a-b) + a^2(a-c) + b^2(b-c) + b^2(b-a) + c^2(c-a) + c^2(c-b) &\geq 0, \\
 (a-b)(a^2 - b^2) + (b-c)(b^2 - c^2) + (c-a)(c^2 - a^2) &\geq 0, \\
 (a-b)^2(a+b) + (b-c)^2(b+c) + (c-a)^2(c+a) &\geq 0.
 \end{aligned}$$

$a = b = c$.

6. a, b, c

$$\sqrt{abc} \left(\frac{2}{a+b} + \frac{2}{b+c} + \frac{2}{c+a} \right) \leq \sqrt{a} + \sqrt{b} + \sqrt{c}.$$

$$\begin{aligned}
 2\sqrt{abc}((b+c)(c+a) + (c+a)(a+b) + (a+b)(b+c)) &\leq (\sqrt{a} + \sqrt{b} + \sqrt{c})(a+b)(b+c)(c+a), \\
 \sqrt{a}(\sqrt{b} - \sqrt{c})^2(a+b)(a+c) + \sqrt{b}(\sqrt{c} - \sqrt{a})^2(b+c)(b+a) + \sqrt{c}(\sqrt{a} - \sqrt{b})^2(c+a)(c+b) &\geq 0.
 \end{aligned}$$

$a = b = c$.

7. a, b, c

$0 < c < b < a$

$$\sqrt{c(a-c)} + \sqrt{c(b-c)} \leq \sqrt{ab}. \tag{1}$$

$a, b, c \quad 0 < c < b < a$

$$c = x^2, a - c = y^2, b - c = z^2, \quad x, y, z > 0. \quad a = x^2 + y^2$$

$b = x^2 + z^2,$

$$xy + xz \leq \sqrt{(x^2 + y^2)(x^2 + z^2)},$$

$$x^2y^2 + x^2z^2 + 2x^2yz \leq x^4 + x^2y^2 + x^2z^2 + y^2z^2,$$

$$0 \leq x^4 - 2x^2yz + y^2z^2,$$

$$0 \leq (x^2 - yz)^2.$$

$x, y, z,$

(1).

n a_1, a_2, \dots, a_n a b .

$$A = \frac{a_1 + a_2 + \dots + a_n}{n},$$

$$G = \sqrt[n]{a_1 a_2 \dots a_n},$$

$$H = \frac{n}{\frac{1}{a_1} + \frac{1}{a_2} + \dots + \frac{1}{a_n}},$$

$$K = \sqrt{\frac{a_1^2 + a_2^2 + \dots + a_n^2}{n}},$$

$$H \leq G \leq A \leq K,$$

$$a_1 = a_2 = \dots = a_n.$$

8. H, G, A K a b

$$) AH = G^2, \quad) G^2 + K^2 = 2A^2.$$

$$AH = \frac{a+b}{2} \cdot \frac{2ab}{a+b} = ab = (\sqrt{ab})^2 = G^2,$$

$$G^2 + K^2 = ab + \frac{a^2 + b^2}{2} = 2 \cdot \frac{a^2 + 2ab + b^2}{4} = 2 \cdot \frac{(a+b)^2}{2^2} = 2\left(\frac{a+b}{2}\right)^2 = 2A^2.$$

9. H, G, A K a b

$$) KG \leq A^2, \quad) K + G \leq 2A,$$

$$) 2G \leq A + H, \quad) 2K + H \leq 3A.$$

$$.) G^2 + K^2 = 2A^2$$

$$A^2 - KG = \frac{G^2 + K^2}{2} - KG = \frac{(K-G)^2}{2} \geq 0, \quad \dots KG \leq A^2.$$

$$) (K + G)^2 = K^2 + 2KG + G^2 = 2A^2 + 2KG \leq 2A^2 + 2A^2 = 4A^2 = (2A)^2, \\ K + G \leq 2A.$$

$$) \quad AH = G^2 \quad -$$

$$\quad \quad \quad A \quad H$$

$$(A + H)^2 \geq 4AH = 4G^2, \dots 2G \leq A + H.$$

$$) \quad \quad \quad A \quad 2A - H, \quad \quad \quad G^2 + K^2 = 2A^2$$

$$AH = G^2,$$

$$\frac{A+2A-H}{2} \geq \sqrt{A(2A-H)}, \quad \quad \quad \left(\frac{3A-H}{2}\right)^2 \geq 2A^2 - AH,$$

$$\left(\frac{3A-H}{2}\right)^2 \geq G^2 + K^2 - G^2, \quad \quad \quad \left(\frac{3A-H}{2}\right)^2 \geq K^2,$$

$$\frac{3A-H}{2} \geq K, \quad \quad \quad 2K + H \leq 3A,$$

10. $H, G, A \quad K \quad a \quad b$

$$) \quad K + H \geq A + G, \quad \quad \quad) \quad KH \leq AG.$$

$$\cdot) \quad K - G \geq 0 \quad K + G \leq 2A, \quad AH = G^2 \quad G^2 + K^2 = 2A^2$$

$$(K + G)(K - G) \leq 2A(K - G),$$

$$K^2 - G^2 \leq 2AK - 2AG,$$

$$K^2 + 2AG + G^2 \leq 2AK + 2G^2,$$

$$2A^2 + 2AG \leq 2AK + 2AH,$$

$$2A(A + G) \leq 2A(K + H),$$

$$A + G \leq K + H.$$

$$) \quad \quad \quad AH = G^2 \quad KG \leq A^2, \quad -$$

$$HK = \frac{AHK}{A} = \frac{G^2K}{A} = \frac{KG}{A} \cdot G \leq \frac{A^2}{A} \cdot G = AG.$$

11. $a, b, c \geq 0.$
 $(a + b)(b + c)(c + a) \geq 8abc.$

$$a + b \geq 2\sqrt{ab}, \quad b + c \geq 2\sqrt{bc} \quad c + a \geq 2\sqrt{ca}.$$

$$(a+b)(b+c)(c+a) \geq 2\sqrt{ab} \cdot 2\sqrt{bc} \cdot 2\sqrt{ca} = 8\sqrt{(abc)^2} = 8abc.$$

$$a=b=c.$$

12. $a, b > 0$ $a+b=1.$

$$(1+\frac{1}{a})(1+\frac{1}{b}) \geq 9.$$

$$a+b \geq 2\sqrt{ab} \qquad 2\sqrt{ab} \leq 1,$$

$$4ab \leq 1, \quad \frac{1}{ab} \geq 4,$$

$$(1+\frac{1}{a})(1+\frac{1}{b}) = 1 + \frac{1}{a} + \frac{1}{b} + \frac{1}{ab} = 1 + \frac{a+b}{ab} + \frac{1}{ab} = 1 + \frac{2}{ab} \geq 1 + 2 \cdot 4 = 9.$$

$$a=b=\frac{1}{2}.$$

13. $x \geq y$

$$x^4 + y^3 + x^2 + y + 1 \geq \frac{9}{2}xy.$$

$$x^4 + 1 \geq 2x^2 \quad y^3 + y \geq 2y^2.$$

$$\sqrt{6} > \frac{9}{4},$$

$$\begin{aligned} x^4 + y^3 + x^2 + y + 1 &= (x^4 + 1) + (y^3 + y) + x^2 \geq 2x^2 + 2y^2 + x^2 \\ &= 3x^2 + 2y^2 \geq 2\sqrt{3x^2 \cdot 2y^2} \\ &= 2\sqrt{6}xy > 2 \cdot \frac{9}{4}xy = \frac{9}{2}xy, \end{aligned}$$

14. a, b, c $\frac{1}{a} + \frac{1}{b} + \frac{1}{c} = 1.$

$$a+b+c \geq 9.$$

$$a, b, c \quad \frac{1}{a} + \frac{1}{b} + \frac{1}{c} = 1$$

$$\frac{a+b+c}{3} \geq \frac{3}{\frac{1}{a} + \frac{1}{b} + \frac{1}{c}} = 3, \quad \dots \quad a+b+c \geq 9.$$

$$a=b=c=3.$$

$$a+b+c=(a+b+c)\left(\frac{1}{a}+\frac{1}{b}+\frac{1}{c}\right)=3+\left(\frac{a}{b}+\frac{b}{a}\right)+\left(\frac{b}{c}+\frac{c}{b}\right)+\left(\frac{c}{a}+\frac{a}{c}\right) \\ \geq 3+2\sqrt{\frac{a}{b}\cdot\frac{b}{a}}+2\sqrt{\frac{b}{c}\cdot\frac{c}{b}}+2\sqrt{\frac{c}{a}\cdot\frac{a}{c}}=3+2+2+2=9. \\ a=b=c=3.$$

15 ().

a, b, c

$$\frac{a}{b+c} + \frac{b}{c+a} + \frac{c}{a+b} \geq \frac{3}{2}.$$

$$b+c=x, c+a=y, a+b=z.$$

$$x+y+z=2(a+b+c), \dots x+y+z=2(a+x),$$

$$a = \frac{y+z-x}{2}, \quad b = \frac{x+z-y}{2}, \quad c = \frac{x+y-z}{2}.$$

$$\frac{a}{b+c} + \frac{b}{c+a} + \frac{c}{a+b} = \frac{y+z-x}{2x} + \frac{x+z-y}{2y} + \frac{x+y-z}{2z} \\ = \frac{1}{2} \left(\left(\frac{y}{x} + \frac{x}{y} \right) + \left(\frac{y}{z} + \frac{z}{y} \right) + \left(\frac{z}{x} + \frac{x}{z} \right) \right) - \frac{3}{2} \\ \geq \frac{1}{2} \left(2\sqrt{\frac{y}{x}\cdot\frac{x}{y}} + 2\sqrt{\frac{y}{z}\cdot\frac{z}{y}} + 2\sqrt{\frac{z}{x}\cdot\frac{x}{z}} \right) - \frac{3}{2} \\ = \frac{1}{2} (2+2+2) - \frac{3}{2} = \frac{3}{2}.$$

$$x = y = z, \dots$$

$$a = b = c.$$

$$\frac{a}{b+c} + 1 + \frac{b}{c+a} + 1 + \frac{c}{a+b} + 1 \geq \frac{9}{2},$$

$$\frac{a+b+c}{b+c} + \frac{a+b+c}{c+a} + \frac{a+b+c}{a+b} \geq \frac{9}{2},$$

$$(a+b+c)\left(\frac{1}{b+c} + \frac{1}{c+a} + \frac{1}{a+b}\right) \geq \frac{9}{2},$$

$$(2a+2b+2c)\left(\frac{1}{b+c} + \frac{1}{c+a} + \frac{1}{a+b}\right) \geq 9,$$

$$\frac{(a+b)+(b+c)+(c+a)}{3} \geq \frac{3}{\frac{1}{a+b} + \frac{1}{b+c} + \frac{1}{c+a}}.$$

$$a+b, b+c, c+a$$

$$a+b=b+c=c+a, \dots, \quad a=b=c.$$

16. a, b, c

$$a(a-\sqrt{bc})+b(b-\sqrt{ca})+c(c-\sqrt{ab})\geq 0.$$

$$-\frac{x+y}{2}\leq-\sqrt{xy} \quad x, y,$$

$$\begin{aligned} a(a-\sqrt{bc})+b(b-\sqrt{ca})+c(c-\sqrt{ab}) &\geq a\left(a-\frac{b+c}{2}\right)+b\left(b-\frac{c+a}{2}\right)+c\left(c-\frac{a+b}{2}\right) \\ &= a^2+b^2+c^2-\frac{ab+ac+bc+ba+ca+cb}{2} \\ &= a^2+b^2+c^2-ab-bc-ca \\ &= \frac{1}{2}((a-b)^2+(b-c)^2+(c-a)^2)\geq 0, \\ & \quad a=b=c. \end{aligned}$$

16. a, b, c $abc=1.$

$$\frac{a-1}{b+1}+\frac{b-1}{c+1}+\frac{c-1}{a+1}\geq 0.$$

$$\begin{aligned} (a+1)(b^2-1)+(b+1)(c^2-1)+(c+1)(a^2-1) &\geq 0, \\ ab^2+bc^2+ca^2+a^2+b^2+c^2-a-b-c &\geq 3, \\ ab^2+bc^2+ca^2+(a-1)^2+(b-1)^2+(c-1)^2+a+b+c &\geq 6. \quad (1) \end{aligned}$$

$$(a-1)^2+(b-1)^2+(c-1)^2\geq 0$$

$$abc=1$$

$$ab^2+bc^2+ca^2+a+b+c\geq 6\sqrt[6]{ab^2\cdot bc^2\cdot ca^2\cdot a\cdot b\cdot c}=6\sqrt[6]{(abc)^4}=6\sqrt[6]{1^4}=6.$$

(1). $a=b=c=1.$

17. $n > 1$ a_1, a_2, \dots, a_n

$$a_1 a_2 = a_2 a_3 = \dots = a_{n-1} a_n = a_n a_1 = 1.$$

$$a_1^2 + a_2^2 + \dots + a_n^2 \geq n.$$

$$\begin{aligned} a_1^2 + a_2^2 + \dots + a_n^2 &= \frac{a_1^2 + a_2^2}{2} + \frac{a_2^2 + a_3^2}{2} + \dots + \frac{a_{n-1}^2 + a_n^2}{2} + \frac{a_n^2 + a_1^2}{2} \\ &\geq \sqrt{a_1 a_2} + \sqrt{a_2 a_3} + \dots + \sqrt{a_{n-1} a_n} + \sqrt{a_n a_1} \\ &= \underbrace{1 + 1 + \dots + 1 + 1}_n = n. \end{aligned}$$

$$a_1 = a_2 = \dots = a_n = 1.$$

18. $n > 1$, a_1, a_2, \dots, a_n

$$a_1 + a_2 + \dots + a_n = M .$$

$$\frac{a_1}{M-a_1} + \frac{a_2}{M-a_2} + \dots + \frac{a_n}{M-a_n} \geq \frac{n}{n-1} .$$

$$\begin{aligned} \frac{a_1}{M-a_1} + \frac{a_2}{M-a_2} + \dots + \frac{a_n}{M-a_n} &= \frac{M-(M-a_1)}{M-a_1} + \frac{M-(M-a_2)}{M-a_2} + \dots + \frac{M-(M-a_n)}{M-a_n} \\ &= \frac{M}{M-a_1} + \frac{M}{M-a_2} + \dots + \frac{M}{M-a_n} - n \\ &\geq \frac{n^2}{\frac{M-a_1}{M} + \frac{M-a_2}{M} + \dots + \frac{M-a_n}{M}} - n = \frac{n^2 M}{nM - (a_1 + a_2 + \dots + a_n)} - n \\ &= \frac{n^2}{n-1} - n = \frac{n}{n-1} . \end{aligned}$$

$$\frac{M}{M-a_1} = \frac{M}{M-a_2} = \dots = \frac{M}{M-a_n} , \dots$$

$$a_1 = a_2 = \dots = a_n = \frac{M}{n} .$$

19. a b , c

$$(1 + \frac{c}{a})(1 + \frac{c}{b}) \geq 3 + 2\sqrt{2}.$$

:

$$\begin{aligned} (1 + \frac{c}{a})(1 + \frac{c}{b}) &= \frac{(a+c)(b+c)}{ab} = \frac{ab+c(a+b)+c^2}{ab} \\ &\geq 1 + \frac{(a+b)\sqrt{a^2+b^2}}{ab} + \frac{a^2+b^2}{ab} \\ &\geq 1 + \frac{2\sqrt{ab} \cdot \sqrt{2\sqrt{a^2b^2}}}{ab} + \frac{2\sqrt{a^2b^2}}{ab} \\ &= 1 + \frac{2\sqrt{2}\sqrt{ab^2}}{ab} + \frac{2ab}{ab} \\ &= 3 + 2\sqrt{2}. \end{aligned}$$

$$a = b, \dots$$

20. a, b, c

$$\sqrt{a+b-c} + \sqrt{b+c-a} + \sqrt{c+a-b} \leq \sqrt{a} + \sqrt{b} + \sqrt{c}.$$

$$, a+b-c > 0, b+c-a > 0 \quad c+a-b > 0.$$

$$\begin{aligned} \sqrt{a+b-c} + \sqrt{b+c-a} + \sqrt{c+a-b} &= \\ &= \frac{\sqrt{c+a-b} + \sqrt{a+b-c}}{2} + \frac{\sqrt{a+b-c} + \sqrt{b+c-a}}{2} + \frac{\sqrt{b+c-a} + \sqrt{c+a-b}}{2} \\ &\leq \sqrt{\frac{\sqrt{c+a-b}^2 + \sqrt{a+b-c}^2}{2}} + \sqrt{\frac{\sqrt{a+b-c}^2 + \sqrt{b+c-a}^2}{2}} + \sqrt{\frac{\sqrt{b+c-a}^2 + \sqrt{c+a-b}^2}{2}} \\ &= \sqrt{a} + \sqrt{b} + \sqrt{c}. \end{aligned}$$

$$\sqrt{a+b-c} = \sqrt{b+c-a} = \sqrt{c+a-b},$$

$$a = b = c.$$

21.

 $m.$

$$a, b \quad c.$$

$$x^2 + y^2 + z^2 \geq xy + yz + zx,$$

$$x, y, z,$$

$$P = 2(ab + bc + ca) \leq 2(a^2 + b^2 + c^2) = 2m^2.$$

$$2m^2 \qquad a = b = c, \dots$$

$$a = \frac{m}{\sqrt{3}}.$$

22.

a, b, c .

$$V = abc$$

$$m^3 = abc,$$

$$\dots m = \sqrt[3]{abc}.$$

$$P = 6\sqrt[3]{(abc)^2},$$

$$P' = 2(ab + bc + ca).$$

$$P' = 2(ab + bc + ca) \geq 2 \cdot 3\sqrt[3]{(ab)(bc)(ca)} = 6\sqrt[3]{(abc)^2} = P,$$

23.

a, b, c .

m .

$$3m^2 = ab + bc + ca.$$

$$V = abc,$$

$$V' = m^3.$$

$$V = abc = \sqrt{(ab)(bc)(ca)} \leq \sqrt{\left(\frac{ab+bc+ca}{3}\right)^3} = \sqrt{\left(\frac{3m^2}{3}\right)^3} = m^3 = V',$$

24.

a, b, c

D .

$$a^2b^2 + b^2c^2 + c^2a^2 \geq abcD\sqrt{3}.$$

$$x^2 + y^2 + z^2 \geq xy + yz + zx$$

$$(x + y + z)^2 \geq 3(xy + yz + zx).$$

$$x = (ab)^2, y = (bc)^2, z = (ca)^2$$

$$a^2 + b^2 + c^2 = D^2,$$

$$\begin{aligned} ((ab)^2 + (bc)^2 + (ca)^2)^2 &\geq 3((ab)^2(bc)^2 + (bc)^2(ca)^2 + (ca)^2(ab)^2) \\ &= 3a^2b^2c^2(a^2 + b^2 + c^2) \\ &= 3a^2b^2c^2D^2, \end{aligned}$$

$$a = b = c, \dots$$

1. $0 < b < a \quad ab = 1.$

$$\frac{a^2 + b^2}{a - b} \geq 2\sqrt{2}.$$

2. a, b, c

$$a + b + c = 1.$$

$$ab + bc + ca \leq \frac{1}{3}.$$

3. $x > -1,$

$$\frac{x + x^2 + x^3 + x^4}{1 + x^5} \leq 2.$$

4. a, b, c

$$ab + bc + ca = 1.$$

$$a^2 + b^2 + c^2 \geq 1.$$

5. $a \geq 0.$

$$a^3 + 2 \geq a^2 + 2\sqrt{a}.$$

6. a, b, c

$$a \leq b \leq c. \quad -$$

$$c^2 - b^2 + a^2 \geq (c - b + a)^2.$$

7. a, b, c

$$a^2(1 + b^2) + b^2(1 + c^2) + c^2(1 + a^2) \geq 6abc.$$

8. a, b, c

$$abc = 1.$$

$$\frac{a}{(a+1)(b+1)} + \frac{b}{(b+1)(c+1)} + \frac{c}{(c+1)(a+1)} \geq \frac{3}{4}.$$

9. a, b
 $(a^2 + b^2)(a^4 + b^4) \geq (a^3 + b^3)^2.$
10. a, b, c $a + b + c = 1.$

$$a^2 + b^2 + c^2 \geq \frac{1}{3}.$$
11. $a, b, c \geq 1.$

$$\sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} < \sqrt{c(ab+1)+1}.$$
12. a, b, c $\frac{1}{a} + \frac{1}{b} + \frac{1}{c} = 1.$

$$(a-1)(b-1)(c-1) \geq 8.$$
13. a, b, c $a^2 + b^2 + c^2 = 3.$

$$\frac{1}{1+ab} + \frac{1}{1+bc} + \frac{1}{1+ca} \geq \frac{3}{2}.$$
14. $n > 1$
 a_1, a_2, \dots, a_n
 $a_1 + a_2 + \dots + a_n = 1.$

$$\frac{a_1}{2-a_1} + \frac{a_2}{2-a_2} + \dots + \frac{a_n}{2-a_n} \geq \frac{n}{2n-1}.$$
15. $n > 1$
 a_1, a_2, \dots, a_n
 $a_1 + a_2 + \dots + a_n = 1.$

$$(a_1 + \frac{1}{a_1})^2 + (a_2 + \frac{1}{a_2})^2 + \dots + (a_n + \frac{1}{a_n})^2 \geq \frac{(1+n^2)^2}{n}.$$
16. a, b, c $a + b + c = 1.$

$$\sqrt{\frac{ab}{c+ab}} + \sqrt{\frac{bc}{a+bc}} + \sqrt{\frac{ca}{b+ca}} \leq \frac{3}{2}.$$
17. a, b, c $abc \leq 1.$

$$\frac{a}{b} + \frac{b}{c} + \frac{c}{a} \geq a + b + c.$$
18. $x, a, b, c, d, e, f > 0$ $a + b + c + d + e + f = 9.$

$$\frac{x^{a-b}}{a+b} + \frac{x^{b-c}}{b+c} + \frac{x^{c-d}}{c+d} + \frac{x^{d-e}}{d+e} + \frac{x^{e-f}}{e+f} + \frac{x^{f-a}}{f+a} \geq 2.$$
19. a, b, c $a^2 + b^2 + c^2 = 3.$

$$\frac{a^4+3ab^3}{a^3+2b^3} + \frac{b^4+3bc^3}{b^3+2c^3} + \frac{c^4+3ca^3}{c^3+2a^3} \leq 4 .$$

20. a, b, c $a^2 + b^2 + c^2 = \frac{1}{2} .$

$$\frac{1-a^2+c^2}{c(a+2b)} + \frac{1-b^2+a^2}{a(b+2c)} + \frac{1-c^2+b^2}{b(c+2a)} \geq 6 .$$

21. $0,4 m^3$ -
 $8 m .$

22. P V -
 $P^3 \geq 216V^2 .$

23. a, b, c $D .$ -

$$\frac{\sqrt{3}}{3}(a+b+c) \leq D < a+b+c .$$

24. a, b, c $P .$
 $P \leq \frac{2}{3}(a+b+c)^2 .$

1. Arslanagi , Š., Zubovi , D., Neke nejednakosti kvadra, Matka, 120, 2020/2021
2. Miloševi , D., O brojevnim sredinama za dva pozitivna broja, Matka, 114, 2020/2021
3. Palman, D., Stereometrija, Element, Zagreb, 2005
4. , .. , (,),
5. , .. , , , , 2023
6. , .. , , , ,
7. 2023 , .. , (,), ()
8. , .. , , (,),